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Roll No.  
    
    

jk"Vªh; lk/kujk"Vªh; lk/kujk"Vªh; lk/kujk"Vªh; lk/ku&&&&lglglglg&&&&es/kkoh Nk=o`fÙk ijh{kk & 2023es/kkoh Nk=o`fÙk ijh{kk & 2023es/kkoh Nk=o`fÙk ijh{kk & 2023es/kkoh Nk=o`fÙk ijh{kk & 2023    
NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION – 2023 

 

NMMS EXAM - 2023 

SAT AND MAT 
le; % 180 feuV                         iw.kkZad % 180  
Time :  180 Minutes                        Max. Marks : 180 

ijh{kkfFkZ;ksa ds fy, funsZ’k @ Instructions to Candidates 
iz’uksa ds mÙkj nsus ls igys iz’uksa ds mÙkj nsus ls igys iz’uksa ds mÙkj nsus ls igys iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa dks /;ku ls if<+,fuEufyf[kr funsZ’kksa dks /;ku ls if<+,fuEufyf[kr funsZ’kksa dks /;ku ls if<+,fuEufyf[kr funsZ’kksa dks /;ku ls if<+,AAAA 

Read the following instructions carefully before you answer the questions. 
 
 

1111---- viuk jksy uEcj] tSlk fd vkids izos’k i= esa fn;k 
x;k gS] Li"V fyf[k, ¼,d ckWDl esa dsoy ,d vad½ 

 mnkgj.k % 
 

3 3 0 2 3 0 1 0 1 1 0 1 
 

 1. Please write your Roll No. as given on your 
Admission Card, very clearly (only one digit in one 
box). 
Example : 
  

3 3 0 2 3 0 1 0 1 1 0 1 
 

 

2222---- bl iz’u i= iqfLrdk esa dqy 32 i`"B gSa] vafre nks 

i`"B jQ dk;Z ds fy, [kkyh NksM+s x, gSaA 

 2. This question paper booklet contains 32 pages. 

Last two pages are left blank for rough work.  
 

3333---- izR;sd iz’u dk mÙkj] mÙkj&i=dmÙkj] mÙkj&i=dmÙkj] mÙkj&i=dmÙkj] mÙkj&i=d esa mlh iz’u la[;k 

ds lkeus fn, x, fodYiksa esa lgh fodYi okyh la[;k 

ds vksoy@o`Ùk esa uhysuhysuhysuhys@dkys @dkys @dkys @dkys ckWy isu ckWy isu ckWy isu ckWy isu ls iwjk xgjk    

dj nhft,A xgjk u gksus ij Ldsuj }kjkxgjk u gksus ij Ldsuj }kjkxgjk u gksus ij Ldsuj }kjkxgjk u gksus ij Ldsuj }kjk uuuu i<+s tkus 

dh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA  

 3. One oval/circle of correct answer should be 

darkened by the candidates with Blue/Black Ball 

Pen of corresponding question of the OMR sheet. If 

scanner is unable to read the darkened 

oval/circle then all the responsibility lies on the 

candidate.  

4444---- bl iz’u i= iqfLrdk esa dqy 180 iz’u fn, x, gSaA 

izR;sd iz’u ,d vad dk gaSA  

 4. This question paper booklet contains 180 

questions. Each question carries one mark.  

5555---- lHkh iz’u fgUnh ,oa vaxzst+h ¼f}Hkk"kk½ esa eqfnzr gaSA     5.   All questions are printed in Hindi and English 

(Bilingual). 

6666---- iz’uksa dk udkjkRed vadu ugha gSA     6.     There is No Negative marking in questions. 

 
uksV % uksV % uksV % uksV %     ¼1½  bl iqfLrdk esa viuk jksy uEcj ,oa jQ dk;Z ds fy, fn, x, LFkku ij dsoy jQ dk;Z djus ds 
  vfrfjDr dgha dqN u fyf[k,A 
 ¼2½ fgUnh vkSj vaxszt+h ek/;e ds iz’uksa esa dksbZ fHkUurk ik, tkus ij fgUnh ek/;efgUnh ek/;efgUnh ek/;efgUnh ek/;e ds iz’uksa dks lgh ekuk 
  tk,xkA 
 

Note :  (1) Do not write anything anywhere in the booklet except your Roll Number and Rough Work at 
  the place meant for it. 
 (2) In case any difference is found between Hindi and English medium questions, Hindi medium 
  questions will be treated as correct. 
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SAT – Q. No. (1 to 90)    
             'kSf{kd ;ksX;rk ij[k lkekftd foKku'kSf{kd ;ksX;rk ij[k lkekftd foKku'kSf{kd ;ksX;rk ij[k lkekftd foKku'kSf{kd ;ksX;rk ij[k lkekftd foKku    

iziziziz----llllaaaa----    ¼¼¼¼1    ls ls ls ls 35½½½½ 

 Scholastic Ability Test Social Science  

Q. No. (1 to 35)    

1. pEikj.k vkUnksyu ls lacaf/kr gaS & 

(1) egkRek xk¡/kh 

(2) tokgjyky usg: 

(3) fouksck Hkkos 

(4) jchUæukFk VSxksj 
 

1. ........... was related to Champaran movement. 

(1) Mahatma Gandhi 

(2) Jawahar Lal Nehru 

(3) Vinoba Bhave 

(4) Rabindra Nath Tagore 
 

2. fLifuax&tSuh dk vkfo"dkj fdlus fd;k\ 

(1) tkWu ds (2) eSdfeyu 

(3) ts-lh- cksl (4) cs;MZ 
 

2. Who invented Spinning–Jenny? 

(1) John Kay (2) MacMillan 

(3) J.C. Bose (4) Bayard 
 

3. 1857 bZ- ds foæksg dk rkRdkfyd dkj.k D;k                
Fkk\ 
(1) feêh okys dkjrwl 

(2) xk; vkSj lqvj dh pchZ okys dkjrwl 

(3) fctyh okys dkjrwl 

(4) mijksDr lHkh 
 

3. What was the immediate cause of the Revolt of 

1857? 

(1) Clay cartridges 

(2) Grease cartridges (Cartridges greased 

with cow and pig fat) 

(3) Electric cartridges 

(4) All of the above 
 

4. ^^ijrh** 'kCn dk D;k vFkZ gS\  

(1) feêh dh mitkÅ 'kfDr c<+kukA 

(2) taxyksa dks lkQ djukA 

(3) taxyksa esa [ksrh djukA 

(4) dqN le; ds fy, tehu dks fcuk tksrs 
gq, [kkyh NksM+ukA 

 

4. What is the meaning of the word “Parti”? 

(1) To increase the fertility of land. 

(2) Clearing the forests. 

(3) Farming in the forests. 

(4) Land left without ploughing for some 

period of time. 
 

5. igyh bafXy’k QSDVªh] 1651 esa] fdl unh ds fdukjs 

'kq: gqbZ\ 

(1) gqxyh (2) xaxk 

(3) czãiq= (4) lkcjerh 
 

5. The first English Factory was started in 1651, 

on the bank of a river, named -  

(1) Hoogly (2) Ganga 

(3) Brahmaputra (4) Sabarmati 
 

6. vk/kqfud jktLFkku dk fuekZ.k dc gqvk\ 

(1) 30 ekpZ] 1949 

(2) 18 vizSy] 1948 

(3) 30 ekpZ] 1950 

(4) 1 uoEcj] 1956 
 

6. When was the modern Rajasthan formed? 

(1) 30 March, 1949 

(2) 18 April, 1948 

(3) 30 March, 1950 

(4) 1 November, 1956 
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7. jktLFkku esa] 1857 dh Økafr ds le; dkSulh 

lSfud Nkouh ugha Fkh\ 

(1) nsoyh (2) [ksjokM+k 

(3) C;koj (4) Vksad 
 

7. Which among the following was not the 

military cantt in Rajasthan during 1857 revolt?  

(1) Devli (2) Kherwara 

(3) Beawar (4) Tonk 
 

8. tux.kuk 2011 ds rgr] jktLFkku esa lokZf/kd o 

U;wure fyaxkuqikr okys ftys gSa & 

(1) t;iqj] /kkSyiqj 

(2) mn;iqj] izrkix<+ 

(3) Mwaxjiqj] /kkSyiqj 

(4) t;iqj] tSlyesj 
 

8. Which districts of Rajasthan have maximum 

and minimum sex ratio, according to the 

Census of 2011? 

(1) Jaipur, Dholpur 

(2) Udaipur, Pratapgarh 

(3) Dungarpur, Dholpur 

(4) Jaipur, Jaisalpur 
 

9. lwrh oL= m|ksx dh igyh fey dh LFkkiuk 

jktLFkku esa dgk¡ gqbZ Fkh\ 

(1) xqykciqjk ¼HkhyokM+k½ 

(2) lk¡xkusj ¼t;iqj½ 

(3) cx: ¼t;iqj½ 

(4) C;koj ¼vtesj½ 
 

9. Where was the first cotton textile mill 

established in Rajasthan? 

(1) Gulabpura (Bhilwara) 

(2) Sanganer (Jaipur) 

(3) Bagru (Jaipur) 

(4) Beawar (Ajmer) 
 

10. pansfj;k lhlk&tLrk 'kks/kd ;a= fdl ftys esa 

LFkkfir gS\ 

(1) t;iqj (2) tSlyesj 

(3) fpŸkkSM+x<+ (4) ukxkSj 
 

10. In which district Chanderia Lead-Zinc smelter 

plant is established? 

(1) Jaipur (2) Jaisalmer 

(3) Chittorgarh (4) Nagaur 
 

11. dkSuls ekSfyd vf/kdkj esa] 14 o"kZ ls de mez ds 

cPpksa dks etnwjh ij j[kuk dkuwuh vijk/k                     

gS\ 

(1) lekurk dk vf/kdkj 

(2) Lora=rk dk vf/kdkj 

(3) 'kks"k.k ds fo#) vf/kdkj 

(4) /kkfeZd Lora=rk dk vf/kdkj 
 

11. According to which Fundamental Right, it is a 

legal offence to engage children below the age 

of 14 years in labour?  

(1) Right to Equality 

(2) Right to Liberty 

(3) Right against Exploitation 

(4) Right to Religious Freedom 
 

12. jkT;lHkk esa fuokZfpr lnL;ksa dh la[;k gksrh                    

gS & 

(1) 245 (2) 112 

(3) 233 (4) 272 
 

12. The number of elected members in Rajya 

Sabha are –  

(1) 245 (2) 112 

(3) 233 (4) 272 
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13. loksZPp U;k;ky; dh LFkkiuk dh xbZ & 

(1) 1950 (2) 1955 

(3) 1947 (4) 1960 
 

13. The Supreme Court was established in – 

(1) 1950 (2) 1955 

(3) 1947 (4) 1960 
 

14. tfy;kaokyk ckx gR;kdkaM dgk¡ gqvk Fkk\ 

(1) ve`rlj (2) fnYyh 

(3) eqacbZ (4) t;iqj 
 

14. Where did Jallianwala Bagh massacre took 

place?  

(1) Amritsar (2) Delhi 

(3) Mumbai (4) Jaipur 
 

15. ck;ksxSl feJ.k gS & 

(1) gkbMªkstu vkSj vkWDlhtu 

(2) ukbVªkstu vkSj vkWDlhtu 

(3) ehFksu vkSj dkcZu MkbZvkWDlkbM 

(4) vkWDlhtu vkSj vkxZu 
 

15. Biogas is a mixture of  – 

(1) Hydrogen and Oxygen 

(2) Nitrogen and Oxygen 

(3) Methane and Carbon dioxide 

(4) Oxygen and Argon 
 

16. js’ke ds dhVksa dk okf.kfT;d ikyu dgykrk gS & 

(1) foVhdYpj (2) gkWVhZdYpj 

(3) filhdYpj (4) lsjhdYpj 
 

16. Commercial rearing of silk worms is called – 

(1) Viticulture (2) Horticulture 

(3) Pisciculture (4) Sericulture 
 

17. vuohuhdj.k lalk/ku dk mnkgj.k gS & 

(1) dks;yk (2) izkÑfrd xSl 

(3) isVªksfy;e (4) mijksDr lHkh 
 

17. Example of non-renewable resource is – 

(1) Coal (2) Natural gas 

(3) Petroleum (4) All of the above 
 

18. Hkw&i`"B ds dqy {ks=Qy dk yxHkx fdruk izfr’kr 

Hkkx Hkwfe gS\ 

(1) 50 izfr’kr (2) 10.41 izfr’kr 

(3) 30 izfr’kr (4) 20 izfr’kr 
 

18. What is the approximate percentage of land out 

of the total surface area of the earth? 

(1) 50% (2) 10.41% 

(3) 30% (4) 20% 
 

19. vfHkys[kkxkj esa j[ks tkrs gSa & 

(1) iqjkus nLrkost vkSj ik.Mqfyfi;k¡ 

(2) ;q) esa dke vkus okys gfFk;kj 

(3) vukt dks Hk.Mkfjr djus ds fy, 

(4) jkT;ksa ds [ktkuksa dks 
 

19. Things kept in archives are  - 

(1) Old documents and Manuscripts  

(2) Weapons used in battle 

(3) Storing grains 

(4) State treasuries 
 

20. pkgekuksa ¼pkSgku½ oa’k dk lcls izfl) 'kkld               

Fkk & 

(1) foxzgjkt (2) lkses’oj 

(3) i`Fohjkt rr̀h; (4) lksejkt 
 

20. The most famous ruler of Chauhan dynasty 

was – 

(1) Vigrah Raj (2) Someshwar 

(3) Prithviraj III (4) Somraj 
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21. Hkkjr ds iz/kkuea=h Lora=rk fnol ij dgk¡ ls 
jk"Vª dks lacksf/kr djrs gSa\ 
(1) bafM;k xsV ¼eqacbZ½ 
(2) yky fdyk ¼fnYyh½ 
(3) dqEHkyx<+ ¼jktLFkku½ 
(4) Jhuxj ¼tEew vkSj d’ehj½ 

 

21. From where does the Prime Minister of India 

address the nation on the Independence Day?  

(1) India Gate (Mumbai) 

(2) Red Fort (Delhi)  

(3) Kumbhalgarh (Rajasthan) 

(4) Srinagar (Jammu & Kashmir) 
 

22. lkseukFk eafnj fdl jkT; esa fLFkr gS\  
(1) fgekpy izns’k  

(2) jktLFkku 

(3) dsjy 

(4) xqtjkr 
 

22. In which state the Somnath Temple is situated?  

(1) Himachal Pradesh  

(2) Rajasthan 

(3) Kerala  

(4) Gujarat  
 

23. jkepfjr ekul ds ys[kd dkSu gSa\  
(1) xka/kh th (2) rqylhnkl 

(3) ukudnso (4) jkekuan 
 

23. Who is the writer of Ramcharitmanas? 

(1) Gandhi ji  (2) Tulsidas 

(3) Nanakdev (4) Ramanand 
 

24. ^vkfnokfl;ksa dk elhgk^ vkSj ^okxM+ dk xka/kh^ 
miuke ls fuEu esa ls fdls tkuk tkrk gS\  
(1) ukuk HkkbZ [kkaV 

(2) xksdqy HkkbZ HkV~V 

(3) ekek ckys’oj n;ky 

(4) Hkksxhyky i.M~;k 
 

24. Who is known as ‘God of Adiwasi’ and 

‘Gandhi of Vagad’? 

(1) Nana Bhai Khant 

(2) Gokul Bhai Bhatt 

(3) Mama Baleshwar Dayal  

(4) Bhogi Lal Pandya  
 

25. [k+jhQ dh Qly gS & 
(1) xsg¡w (2) ljlksa 
(3) puk (4) pkoy 

 

25. Kharif crop is – 

(1) Wheat (2) Mustard  

(3) Gram (4) Rice 
 

26. fot;LrEHk dk fuekZ.k djok;k &  
(1) egkjk.kk izrki 

(2) lokbZ t;flag 

(3) egkjk.kk dqEHkk  

(4) egkjk.kk lkaxk  
 

26. Vijaystambha was built by -  

(1) Maharana Pratap 

(2) Sawai Jai Singh  

(3) Maharana Kumbha 

(4) Maharana Sanga  
 

27. jktLFkku dk jkT; i{kh gS & 
(1) dcwrj (2) eksj 

(3) lkjl (4) xksMko.k 
 

27. The state bird of Rajasthan is – 

(1) Pigeon  (2) Peacock  

(3) Crane  (4) Godavan  
 

28. eq[;ea=h o vU; eaf=;ksa dh fu;qfDr dkSu djrk 
gS\ 
(1) fo/kk;d 

(2) jkT;iky 

(3) turk 
(4) mPp U;k;ky; ds U;k;k/kh’k  

 

28. Who appoints Chief Minister and other 

Ministers?  

(1) M.L.A. 

(2) Governor  

(3) Public  

(4) Judge of High Court 
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29. Hkkjr esa erkf/kdkj dh U;wure vk;q gS &  

(1) 12  o"kZ (2) 25  o"kZ 

(3) 18  o"kZ (4) 21  o"kZ 
 

29. The minimum age of suffrage (voting) in India 

is – 

(1) 12 years (2) 25 years 

(3) 18 years (4) 21 years  
 

30. fuEukafdr esa ls dkSulk lapkj dk lk/ku gS\  

(1) jsfM;ks  

(2) Vh-oh- 

(3) v[kckj 

(4) mi;qZDr lHkh  
 

30. Which of the following is a means of 

communication?  

(1) Radio 

(2) T.V. 

(3) Newspaper  

(4) All of the above  
 

31. fo’o dh lcls xgjh [kku fdl egk}hi esa fLFkr 

gS\  

(1) ,f’k;k 

(2) nf{k.k vÝhdk 

(3) ;wjksi 

(4) nf{k.kh vesfjdk 
 

31. In which continent world’s deepest mine is 

situated?  

(1) Asia 

(2) South Africa 

(3) Europe  

(4) South America 
 

32. jsfM;ks rjaxsa fdl eaMy esa gksrh gaS\  

(1) lerki eaMy (2) cfgeZ.My 

(3) e/;e.My (4) cká ok;qeaMy 
 

32. In which sphere do radio waves exists?  

(1) Stratosphere  (2) Exosphere 

(3) Mesosphere (4) Thermosphere  
 

33. Hkwdai dh rhozrk ekius dh bdkbZ D;k gS\ 

(1) fjDVj Ldsy (2) Hkwdaiekih 

(3) gkbxzksehVj (4) csjksehVj 
 

33. What is the unit to measure the intensity of an 

earthquake?  

(1) Richter Scale  (2) Seismograph 

(3) Hygrometer (4) Barometer 
 

34. fo’o i;kZoj.k fnol euk;k tkrk gS &  

(1) 16 fnlacj (2) 5 twu 

(3) 30 tuojh (4) 21 flrEcj 

 

34. The World Environment Day is celebrated   

on –  

(1) 16 December (2) 5 June 

(3) 30 January  (4) 21 September 

 

35. Hkkjr esa tux.kuk fdrus o"kksZa ds ckn dh tkrh 

gS\ 

(1) 20 o"kZ (2) 05 o"kZ 

(3) 15 o"kZ (4) 10 o"kZ 
 

35. After how many years is population census 

done in India?  

(1) 20 years (2) 05 years 

(3) 15 years (4) 10 years  
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 foKkufoKkufoKkufoKku    
iziziziz----llllaaaa----    ¼¼¼¼36    ls ls ls ls 70½½½½ 

  Science  

Q. No. (36 to 70)    
36. izdk’k la’ys"k.k esa ikni dk dkSulk Hkkx ok;q ls 

dkcZu MkbZvkWDlkbM xzg.k djrk gS\  
(1) ewy jkse (2) ruk 
(3) jU/kz (4) ckány  

 

36. Which part of the plant receives carbon dioxide 

from the air during photosynthesis?  

(1) Root hair (2) Stem  

(3) Stomata (4) Calyx  
 

37. tEew&d’ehj dh izfl) ^i’ehuk&’kkWy^ fdl i’kq 
ds ckyksa ls cukbZ tkrh gS\  
(1) ;kd 

(2) d’ehjh cdjh 
(3) Å¡V 

(4) vaxksjk cdjh 
 

37. Which animal’s furs are used in making of the 

famous ‘Pashmina Shawls’ of Jammu and 

Kashmir?  

(1) Yak 

(2) Kashmiri Goat 

(3) Camel 

(4) Angora Goat 
 

38. m".kdfVca/kh; o"kkZou esa ik;k tkus okyk izeq[k 
tho ugha gS & 
(1) gkFkh (2) canj 

(3) phrk (4) Hkkyw 
 

38. The major animal which is not found in tropical 

rainforest – 

(1) Elephant (2) Monkey 

(3) Cheetah (4) Bear  
 

39. ^pØokr ds us=^ dk O;kl fdruk gksrk gS\ 
(1) 5 ls 25 fdeh rd  

(2) 10 ls 30 fdeh rd   

(3) 150 ls 250 fdeh rd  

(4) 25 ls 50 fdeh rd  
 

39. The diameter of the ‘eye of a cyclone’ is - 

(1) 5 to 25 kms 

(2) 10 to 30 kms 

(3) 150 to 250 kms 

(4) 25 to 50 kms 
 

40. fuEufyf[kr esa ls dkSulk moZjd dk mnkgj.k ugha 
gS\ 
(1) ;wfj;k 
(2) oehZdEiksLV 

(3) veksfu;e lYQsV 

(4) lqij QkWLQsV  
 

40. Which of the following is not an example of a 

fertilizer? 

(1) Urea  

(2) Vermicompost  

(3) Ammonium sulphate  

(4) Super phosphate  
 

41. phuh dks ,YdksgkWy esa ifjofrZr djus ds izØe dk 
uke gS & 
(1) ukbVªkstu fLFkjhdj.k 
(2) eksfYMax 

(3) fd.ou 

(4) ladj.k 
 

41. The process of converting sugar into alcohol is 

known as - 

(1) Nitrogen fixation 

(2) Moulding 

(3) Fermentation 

(4) Hybridisation  
 

42. fo’o dk igyk rsy dk dq¡vk dgk¡ fMªy fd;k x;k 
Fkk\ 
(1) Hkkjr  (2) :l  

(3) U;wt+hyS.M (4) vesfjdk 
 

42. Where was world’s first oil well drilled? 
(1) India  (2) Russia 

(3) New Zealand (4) America  
 

43. fdl iqLrd esa LkadVkiUu Lih’kht+ dk fjdkWMZ 
jgrk gS\ 
(1) jsM MkVk cqd  

(2) ;syks MkVk cqd  

(3) xzhu MkVk cqd 

(4) CySd MkVk cqd 
 

43. Which book contains a record of endangered 

species? 

(1) Red Data Book  

(2) Yellow Data Book  

(3) Green Data Book  

(4) Black Data Book  
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44. ekuo jDr esa ik;h tkus okyh og dksf’kdk] tks 
viuk vkdkj cny ldrh gS & 
(1) 'osr jDr dksf’kdk 
(2) yky jDr dksf’kdk 
(3) fcEck.kq  

(4) buesa ls dksbZ ugha 
 

44. In human blood, which cell has the ability to 

change its shape? 

(1) White Blood Cell  

(2) Red Blood Cell 

(3) Platelets 

(4) None of the above 
 

45. vko`fÙk dk ek=d gS & 
(1) Msflcy (2) feyhehVj 

(3) xhxkckbV (4) gV~Zt+ 
 

45. The unit of frequency is - 

(1) Decibel (2) Millimetre 

(3) Gigabyte (4) Hertz 
 

46. us= dk dkSulk Hkkx] us= esa izos’k djus okys izdk’k 
dh ek=k dks fu;af=r djrk gS\  
(1) ifjrkfjdk (2) iqryh 
(3) jsfVuk (4) dkWfuZ;k 

 

46. Which part of the eye, controls the amount of 

light entering into the eye? 

(1) Iris (2) Pupil 

(3) Retina (4) Cornea 
 

47. fdlh i`"B ds izfr ,dkad {ks=Qy ij yxus okys 
cy dks D;k dgrs gSa\ 
(1) xq#Rokd"kZ.k cy 

(2) fLFkj oS|qr cy 

(3) ?k"kZ.k 
(4) nkc  

 

47. The force acting on the unit area of the surface 

is known as - 

(1) Gravitational force 

(2) Electrostatic force 

(3) Friction  

(4) Pressure 
 

48. ykj] pkoy ds ekM+ dks fdlesa cnyrk gS\ 
(1) izksVhu (2) foVkfeu 

(3) 'kdZjk (4) dkcksZgkbMªsV 
 

48. The saliva breaks down the starch into - 

(1) Protein  (2) Vitamin 

(3) Sugar (4) Carbohydrate 
 

49. ^Fky lehj* fdl le; cgrh gS\ 
(1) nksigj (2) izkr%dky 

(3) jkf=dky (4) la/;kdky 
 

49. At which time the ‘land breeze’ flows? 

(1) Afternoon (2) Morning 

(3) Night (4) Evening 
 

50. fyVel dks fu"df"kZr fd;k tkrk gS & 

(1) thok.kq ls  (2) ok;jl ls  

(3) ykbdsu ls (4) fljdk ls 
 

50. Litmus is extracted from - 

(1) Bacteria  (2) Virus 

(3) Lichen (4) Vinegar 
 

51. yksgs ij tax yxus ds fy;s fuEu esa ls D;k 
vko’;d gS\ 
(1) vkWDlhtu $ ty 

(2) dkcZu MkbZvkWDlkbM $ ty  

(3) lYQj $ ty 

(4) ukbVªkstu $ ty 
 

51. Which of the following are essential for rusting 

iron? 

(1) Oxygen + Water 

(2) Carbon dioxide + Water 

(3) Sulphur  + Water 

(4) Nitrogen + Water 
 

52. isf’k;ksa esa ,saBu mRiUu djus ds fy;s mÙkjnk;h            
gS & 
(1) dkcksZfud vEy (2) ySfDVd vEy 

(3) ,YdksgkWy (4) Xywdkst+ 
 

52. Which one of the following is responsible for 

muscle cramps? 

(1) Carbonic acid (2) Lactic acid 

(3) Alcohol (4) Glucose 
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53. fdl ikni esa izdh.kZu fØ;k tUrqvksa }kjk lEiUu 

gksrh gS\ 

(1) lsgtu (2) vkd 

(3) ?kkl (4) tS+fUFk;e 
 

53. In which plant the process of dispersal is 

accomplished by animal? 

(1) Drum stick (2) Aak 

(3) Grass (4) Xanthium 
 

54. r#.kk 2 eh-@ls. dh pky ls 15 feuV esa fdruh 

nwjh r; djrh gS\ 

(1) 1000 ehVj (2) 1400 ehVj 

(3) 1800 ehVj (4) 2200 ehVj 
 

54. What distance does Taruna cover in              

15 minutes at a speed of 2 m/sec? 

(1) 1000 m (2) 1400 m 

(3) 1800 m (4) 2200 m 
 

55. izfrnhIr ufydkvksa ls izdk’k izkIr djus esa fdl 
/kkrq dk mi;ksx fd;k tkrk gS\ 
(1) rk¡ck (2) yksgk 

(3) eSXuhf’k;e (4) ikjk 
 

55. Which metal is used to obtain light from 

‘Fluoroscent Tubes’? 

(1) Copper (2) Iron 

(3) Magnesium (4) Mercury 
 

56. nar fpfdRld nk¡rksa dk vkof/kZr izfrfcEc ns[kus 

ds fy, fuEu esa ls fdl ;a= dk iz;ksx djrs                

gaS\ 

(1) lery niZ.k 

(2) vory niZ.k 

(3) mÙky ysal 

(4) mÙky niZ.k 
 

56. Which of the following instruments is used by 

the dentists to see the magnified image of the 

teeth? 

(1) Plane mirror 

(2) Concave mirror 

(3) Convex lens 

(4) Convex mirror 
 

57. ydM+h dh ,d pEep dks vkblØhe ds I;kys esa 

Mqcks;k x;k gS] bldk nwljk fljk & 

(1) pkyu ds dkj.k BaMk gks tk,xk  

(2) laogu ds dkj.k BaMk gks tk,xk 

(3) fofdj.k ds dkj.k BaMk gks tk,xk 

(4) BaMk ugha gksxk 
 

57. If a wooden spoon is dipped in a cup of ice-

cream, its other end - 

(1) becomes cold by the process of 

conduction 

(2) becomes cold by the process of 

convection 

(3) becomes cold by the process of 

radiation  

(4) does not become cold 
 

58. ;’kn~&ysiu izØe esa fuEu esa ls dkSu lh fØ;k 

dh tkrh gS\  

(1) yksgs dh oLrqvksa ij jax djuk  

(2) dkcZu MkbZvkWDlkbM dks pwus ds ikuh esa 

izokfgr djuk 

(3) eSXuh’kh;e vkWDlkbM dks ty esa ?kksyuk  

(4) yksgs dh oLrqvksa ij tLrs dh ijr p<+kuk 
 

58. Which of the following reaction is done in the 

galvanisation process?  

(1) Paint on iron objects  

(2) Pass carbon dioxide through lime 

water  

(3) Dissolve Magnesium oxide in water 

(4) Zinc coating on iron objects 
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59. uhps fn, x, fp= esa fn[kkbZ nsus okys tuu dk 
izdkj gS & 

 
(1) eqdqyu 

(2) dkf;d tuu 

(3) fo[kaMu 

(4) chtk.kq tuu 
 

59. The type of reproduction shown in the below 

diagram is – 

 
 

(1) Budding 

(2) Vegetative reproduction 

(3) Fission  

(4) Spore reproduction 
 

60. fuEu esa ls dkSulk izrhd fdlh fo|qr ifjiFk esa 
^fLop vkWQ* dh fLFkfr dks n’kkZrk gS\ 
(1) 

 

(2) 
 

(3) 
 

(4)  
 

60. Which of the following symbols shows the 

‘Switch off’ position in an electric circuit? 

(1) 
 

(2) 
 

(3) 
 

(4)  
 

61. Ik;kZoj.k fgrS"kh ‘5R’ fl)kar esa D;k 'kkfey ugha  
gS\ 
(1) mi;ksx de dfj,  
(2) mi;ksx dfj,  
(3) iqu% pfØr dfj,  
(4) iqu% izkIr dfj, 

 

61. What is not included in the eco-friendly ‘5R’ 

principle? 

(1) Reduce  

(2) Use  

(3) Recycle  

(4) Recover 
 

62. dkSulh v/kkrq dks ty esa j[kk tkrk gS\ 

(1) dkCkZu (2) ukbVªkstu 
(3) QkWLQksjl (4) lYQj 

 

62. Which one of the following non-metal is stored 

in water?  
(1) Carbon  (2) Nitrogen  

(3) Phosphorus  (4) Sulphur  
 

63. fn, x, jk"Vªh; m|kuksa esa ls] fuEu esa ls dkSu lk  
Hkkjr dk izFke vkjf{kr ou gS\ 
(1) j.kFkEHkkSj (2) dkUgk 
(3) dsoyknso (4) lriqM+k 

 

63. From the given National Parks, which one of 

the following is the first Reserve Forest of 

India? 
(1) Ranthambhore  (2) Kanha  

(3) Kevladev  (4) Satpura  
 

64. ;fn fdlh oLrq ij nks cy foijhr fn’kk esa dk;Z 
djrs gaS] rks bl ij yxus okyk dqy cy                
gksxk  & 
(1) nksuksa cyksa ds ;ksx ds cjkcj  

(2) nksuksa cyksa ds vUrj ds cjkcj 

(3) dqy cy 'kwU; gksxk  

(4) nksuksa cyksa ds xq.kuQy ds cjkcj gksxk  
 

64. If the two forces act in the opposite directions 

on an object, then the net force acting on it will 

be - 

(1) equal to the sum of two forces  

(2) equal to the difference of the two 

forces  

(3) the net force will be zero  

(4) equal to multiplication of both the 

forces  
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65. fuEu esa ls dkSulh ?k"kZ.k de djus okyh izfØ;k 
gS\ 
(1) okguksa ds Vk;j [kk¡psnkj cukuk  

(2) njoktksa ds dCtksa esa rsy dh cw¡ns Mkyuk  

(3) twrksa dh ryh [kk¡psnkj cukuk 
(4) dcìh ds f[kykM+h }kjk gkFkksa ij feÍh 

jxM+uk  
 

65. Which of the following is a process of 

decreasing friction? 

(1) Grooving the tyres of vehicles  

(2) Oiling the hinges of doors  

(3) Grooving the sole of shoes 

(4) Kabaddi players rub their hands with 

soil 
 

66. lkbfdy ds gSfUMy rFkk ifg;ksa ds fje dks 
pednkj cukus ds fy, fdl /kkrq dk fo|qrysiu 
fd;k tkrk gS\ 
(1) Øksfe;e  (2) yksgk  

(3) ,Y;wfefu;e  (4) fVu  
 

66. Which metal is used for electroplating the 

handles of cycle and rims of wheels to make 

them shine? 
(1) Chromium  (2) Iron  

(3) Aluminium  (4) Tin  
 

67. yqbZ czsy us fdu yksxksa ds fy, czsy fyfi dk fuekZ.k 
fd;k Fkk\ 
(1) pk{kq"k foÑfr  

(2) Jo.k fodykaxrk  

(3) ekufld fodykaxrk  

(4) yksdkseksVj fodykaxrk  
 

67. For whom did Louis Braille develop Braille 

script? 

(1) Visual impairment  

(2) Hearing impairment  

(3) Mental disability  

(4) Locomotor impairment 
 

68. fuEu esa ls dkSulh vfHkfØ;k foLFkkiu vfHkfØ;k 
dk mnkgj.k gS\ 
(1) CuSO4 + Zn → ZnSO4 + Cu 

(2) SO2 + H2O → H2SO3 

(3) 2Cu + H2O + CO2 + O2 → Cu(OH)2 + 

CuCO3  

(4) mi;qZä lHkh 
 

68. Which of the following reactions is an example 

of displacement reaction? 

(1) CuSO4 + Zn → ZnSO4 + Cu 

(2) SO2 + H2O → H2SO3 

(3) 2Cu + H2O + CO2 + O2 → Cu(OH)2 + 

CuCO3  

(4) All of the above  
 

69. fuf[ky dks yksVfud] LFkSfrd rFkk lihZ ?k"kZ.k ds 
dkj.k cyksa dks c<+rs Øe esa O;ofLFkr djus ds  
fy, dgk x;kA mudh O;oLFkk uhps nh x;h gSA 
lgh O;oLFkk dk p;u dhft, & 
(1) yksVfud] LFkSfrd] lihZ 

(2) lihZ] LFkSfrd] yksVfud 

(3) LFkSfrd] lihZ] yksVfud 

(4) yksVfud] lihZ] LFkSfrd 
 

69. Nikhil was asked to arrange forces due to 

rolling, static and sliding frictions in an 

increasing order. Their arrangements are given 

below. Choose the correct arrangement - 

(1) rolling, static, sliding 

(2) sliding, static, rolling 

(3) static, sliding, rolling 

(4) rolling, sliding, static 
 

70. izdk’k mRltZd Mk;ksM (LED) ds lkFk tqM+s yEcs 
rkj dks tksM+k tkrk gS] cSVjh ds & 
(1) /ku fljs ls  

(2) _.k fljs ls  

(3) /ku ;k _.k fdlh ls Hkh  

(4) u /ku ls uk gh _.k ls  
 

70. The long wire connected with the LED (Light 

Emitting Diodes) is connected to battery - 

(1) by positive terminal 

(2) by negative terminal  

(3) by any, whether positive or negative 

terminal  

(4) by neither positive nor negative 

terminal  
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 xf.krxf.krxf.krxf.kr    

iziziziz----llllaaaa----    ¼¼¼¼71    ls ls ls ls 90½½½½ 

 Mathematics  

Q. No. (71 to 90)    

71. la[;k 16 dk oxZewy gS & 

(1) 2 (2) 4 

(3) 8 (4) 32 
 

71. The square root of number 16 is - 

(1) 2 (2) 4 

(3) 8 (4) 32 
 

72. fuEufyf[kr esa ls dkSulh loZlfedk lgh gS\ 

(1) (a–b)2  = a2 + 2ab + b2 

(2) (a+b)2  = a2 – 2ab + b2  

(3) (a+b) (a–b) = a2 – b2 

(4) (a+b) (a–b) = a2 + b2 
 

72. Which of the following identity is correct? 

(1) (a–b)2  = a2 + 2ab + b2 

(2) (a+b)2  = a2 – 2ab + b2  

(3) (a+b) (a–b) = a2 – b2 

(4) (a+b) (a–b) = a2 + b2 
 

73. fdlh la[;k ds nksxqus esa ls 5 ?kVkus ij] 5 izkIr 

gksrk gSA bls lehdj.k ds :Ik esa dSls fy[kk tk 

ldrk gS\ 

(1) 10x – 5 = 5 (2) 5x – 10 = 5 

(3) 4x – 5 = 5 (4) 2x – 5 = 5 
 

73. If 5 is subtracted from twice of a number, 5 is 

obtained. How this can be written in the form 

of an equation? 

(1) 10x – 5 = 5 (2) 5x – 10 = 5 

(3) 4x – 5 = 5 (4) 2x – 5 = 5 
 

74. vk;r dk ifjeki Kkr djus dk lw= gS & 

(1) yEckbZ × pkSM+kbZ  

(2) yEckbZ $ pkSM+kbZ 

(3) 2¼yEckbZ $ pkSM+kbZ½ 

(4) 2¼yEckbZ × pkSM+kbZ½ 
 

74. The formula to find the perimeter of a rectangle 

is - 

(1) length × width 

(2) length + width 

(3) 2(length + width) 

(4) 2(length × width) 
 

75. ifjes; la[;kvksa ds fy;s ;ksT; rRled gS & 

(1) 1 (2) 0 

(3) ∞ (4) -1   
 

75. The additive identity for rational numbers is - 

(1) 1 (2) 0 

(3) ∞ (4) -1   
 

76. ,d o`Ùkkdkj r’rjh dh ifjf/k 88 ls-eh- gS] rks 

bldh f=T;k gksxh & 

(1) 17 ls-eh- (2) 14 ls-eh- 
(3) 144 ls-eh- (4) 28 ls-eh- 

 

76. If the circumference of a circular plate is     

88 cm, then its radius will be - 

(1) 17 cm (2) 14 cm 

(3) 144 cm (4) 28 cm 
 

77. izR;sd vk;r gksrk gS & 
(1) ,d oxZ  

(2) ,d irax  

(3) ,d lekUrj prqHkZqt  

(4) ,d leprqHkZqt  
 

77. Every rectangle is - 

(1) a square  

(2) a kite  

(3) a parallelogram  

(4) a rhombus  
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78. Øe’k% ?ku vkSj ?kuewy dk lgh ;qXe gS & 

(1) 15, 25 (2) 4, 2 

(3) 64, 4 (4) 19, 3 
 

78. The correct pair of a cube and a cube root 

respectively is - 
(1) 15, 25 (2) 4, 2 

(3) 64, 4 (4) 19, 3 
 

79. leku inksa dk lewg gS & 

(1) 7x , 14x, -13x  

(2) 
m2, 

m3

2
, mn  

(3) -7P, 11P2, PR 

(4) ab, a, -b  
 

79. The set of like terms is - 

(1) 7x , 14x, -13x  

(2) 
m2, 

m3

2
, mn  

(3) -7P, 11P2, PR 

(4) ab, a, -b  
 

80. tc ,d ikls dks Qsadk tkrk gS] rks 4 ls cM+h 

la[;k ugha vkus dh izkf;drk dks Kkr dhft, & 

(1) 1

3
  (2) 1

4
  

(3) 2

3
  (4) 2

4
  

 

80. When a dice is thrown, the probability of not 

getting a number greater than 4 is -  

(1) 1

3
  (2) 1

4
  

(3) 2

3
  (4) 2

4
  

 

81. fuEu esa ls vkW;yj lw= dkSulk gS\ 

(1) E + V + F = 2 

(2) V + E – F = 2 

(3) F + V – E = 2 

(4) F + E – V = 2 
 

81. Which one is the Euler’s formula? 

(1) E + V + F = 2 

(2) V + E – F = 2 

(3) F + V – E = 2 

(4) F + E – V = 2 
 

82. 250 dk 15% gksxk & 

(1) 50 (2) 37.5 

(3) 25 (4) 47 
 

82. 15% of 250 will be - 

(1) 50 (2) 37.5 

(3) 25 (4) 47 
 

83. fdlh fo"keckgq f=Hkqt ds ,d 'kh"kZ dks mlds 

lEeq[k Hkqtk ds e/; fcUnq ls feykus okys js[kk[k.M 

dks dgrs gSa\ 

(1) 'kh"kZyEc (2) ekf/;dk 

(3) vk/kkj (4) fod.kZ 
 

83. The line segment joining a vertex of a scalene 

triangle to the midpoint of its opposite side is 

called - 

(1) Altitude (2) Median 

(3) Base (4) Diagonal 
 

84. fn, x, fp= esa Nk;kafdr Hkkx dk fefJr fHkUu 

:i gksxk & 

 

(1) 1
�

�
  (2) 3

�

�
  

(3) 2
�

�
  (4) 2

�

�
  

 

84. The mixed fraction of shaded part in the given 

picture will be – 

 

(1) 1
�

�
  (2) 3

�

�
  

(3) 2
�

�
  (4) 2

�

�
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85. nks iw.kZ la[;kvksa dk varj 66 gSA ;fn mudk 

vuqikr 2:5 gS] rks os la[;k,¡ gSa & 

(1) 22, 44 (2) 122, 56 

(3) 22, 88 (4) 44, 110 
 

85. The difference of two whole numbers is 66. If 

their ratio is 2:5, then those numbers are - 

(1) 22, 44 (2) 122, 56 

(3) 22, 88 (4) 44, 110 
 

86. fuEufyf[kr esa /kukRed ifjes; la[;k dk lewg  

gS & 

(1) �

�
,   


�

�
,   


�

�
  

(2) 
�

�
,   


�

�
,   


�



  

(3) 
�


�
,   

�



,   

�

�
  

(4) −1 ,

�

�
,

�




  

 

86. Set of positive rational numbers among the 

following is - 

(1) �

�
,   


�

�
,   


�

�
  

(2) 
�

�
,   


�

�
,   


�



  

(3) 
�


�
,   

�



,   

�

�
  

(4) −1 ,

�

�
,

�




  

 

87. fdUgha nks ifjes; la[;k ds e/; ifjes; la[;k,¡ 

gksrh gSa\ 

(1) cjkcj (2) lhfer 

(3) vifjfer (4) O;qRØe 
 

87. Rational number between any two rational 

numbers is  - 

(1) equal (2) finite 

(3) infinite (4) inverse 
 

88. fuEufyf[kr la[;kvksa 2, 2, 2, 3, 3, 4, 5, 5, 5, 6 

dk cgqyd gS & 

(1) 2 (2) 3 

(3) 5 (4) 2 vkSj 5 
 

88. Mode of the following numbers                     

2, 2, 2, 3, 3, 4, 5, 5, 5, 6 is - 

(1) 2 (2) 3 

(3) 5 (4) 2 and 5 
 

89. fn, x, fp= ds fy, dkSulk dFku lR; gS\ 

 

(1)  ∠1  +  ∠2  =  ∠4  

(2)  ∠4  +  ∠1  =  ∠2 

(3)  ∠1  +  ∠2  =  ∠3 

(4)  ∠1  +  ∠3  =  ∠2 
 

89. Which statement is true for the given picture? 

 

(1)  ∠1  +  ∠2  =  ∠4  

(2)  ∠4  +  ∠1  =  ∠2 

(3)  ∠1  +  ∠2  =  ∠3 

(4)  ∠1  +  ∠3  =  ∠2 
 

90. fuEufyf[kr vkÑfr esa ;fn løm gks] rks z dk eku 

gksxk & 

 

(1) 60° (2) 180° 

(3) 30° (4) 120° 
 

90. In the following figure if løm, then find the 

value of z - 

 

(1) 60° (2) 180° 

(3) 30° (4) 120° 
 

°60 z

l m

t
°60 z

l m

t

C

A

B

1

2
3

4
EC

A

B

1

2
3

4
E



 NMMS                                                                         Page 15 of 32                                                                (126101)       

 

 

MAT – Q. No. (91 to 180)    

 ekufld ;ksX;rk ijh{kkekufld ;ksX;rk ijh{kkekufld ;ksX;rk ijh{kkekufld ;ksX;rk ijh{kk    
iziziziz----llllaaaa----    ¼¼¼¼91    ls ls ls ls 180½ ½ ½ ½  

 Mental Ability Test 

Q. No. (91 to 180)    
 funsZ’k funsZ’k funsZ’k funsZ’k %%%%    iz’u iz’u iz’u iz’u (91 – 95) : nh xbZ J`a[kyk dks iwjk 

djksA 
 Direction : Question (91 – 95) : Complete the 

following series. 

91. 1, 4, 9, 16, ...........? 

(1) 25 (2) 26 

(3) 81 (4) 36 
 

91. 1, 4, 9, 16, ...........? 

(1) 25 (2) 26 

(3) 81 (4) 36 
 

92. 6, 11, 21, 36, 56, 81,...........? 

(1) 112 (2) 91 

(3) 161 (4) 111 
 

92. 6, 11, 21, 36, 56, 81,...........? 

(1) 112 (2) 91 

(3) 161 (4) 111 
 

93. 2, 9, 28,.................? 

(1) 124 (2) 126 

(3) 65 (4) 63 
 

93. 2, 9, 28,.................? 

(1) 124 (2) 126 

(3) 65 (4) 63 
 

94. AZ, BY, CX, DW,.................? 

(1) EV (2) FU 

(3) GT (4) EH 
 

94. AZ, BY, CX, DW,.................? 

(1) EV (2) FU 

(3) GT (4) EH 
 

95. ABZ, DEW, GHT,..........? 

(1) ONM (2) JKQ 

(3) DEV (4) HIJ 
 

95. ABZ, DEW, GHT,..........? 

(1) ONM (2) JKQ 

(3) DEV (4) HIJ 
 

 funsZ’kfunsZ’kfunsZ’kfunsZ’k    %%%%    iz’uiz’uiz’uiz’u    ¼¼¼¼96-105½½½½    %%%% fuEufyf[kr esa fotkrh; 

in dks Kkr dhft,A 

 Direction : Question (96-105) : Select the 

odd term in the following question. 

96. (1) tqykbZ (2) vxLr 

(3) flrEcj (4) vDVwcj 
 

96. 

 

(1) July (2) August 

(3) September (4) October 
 

97. (1) 2 (2) 12 

(3) 6 (4) 18 
 

97. (1) 2 (2) 12 

(3) 6 (4) 18 
 

98. (1) a (2) i 

(3) e (4) m 
 

98. (1) a (2) i 

(3) e (4) m 
 

99. (1) nknk 
(2) nknh 
(3) ekeh 
(4) firk 

 

99. (1) Grandfather 

(2) Grandmother 

(3) Maternal Aunt 

(4) Father 
 

100. (1) Qslcqd (2) okWV~l,si 

(3) baLVkxzke (4) Iys&LVksj 
 

100. (1) Facebook (2) WhatsApp 

(3) Instagram (4) Playstore 
 

101. (1) dsjy  

(2) vkU/kzizns’k 
(3) rfeyukMq 
(4) xk¡/kh uxj  

 

101. (1) Kerala  

(2) Andhra Pradesh  

(3) Tamil Nadu 

(4) Gandhi Nagar  
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102. (1) ikjk (2) yksgk 

(3) pk¡nh (4) rk¡ck 
 

102. (1) Mercury  (2) Iron 

(3) Silver (4) Copper  
 

103. (1) ikyh (2) mn;iqj 

(3) uhep (4) Hkjriqj 
 

103. (1) Pali (2) Udaipur 

(3) Neemuch (4) Bharatpur  
 

104. (1) yky (2) jax 

(3) uhyk (4) lQsn 
 

104. (1) Red (2) Colour 

(3) Blue (4) White 
 

105. (1) K (2) P 

(3) U (4) T 
 

105. (1) K (2) P 

(3) U (4) T 
 

106. fn, x, fp= esa vk;rksa dh dqy la[;k fdruh 

gS\ 

 
(1) 5 (2) 9 

(3) 7 (4) 4 
 

106. What is the total number of rectangles in the 

given figure? 

 

(1) 5 (2) 9 

(3) 7 (4) 4 
 

107. nh xbZ vkÑfr esa f=Hkqtksa dh la[;k crkvks & 

 

 
(1) 6 (2) 8 

(3) 10 (4) 12 
 

107. In the given figure count the number of 

triangles - 
 

 

(1) 6 (2) 8 

(3) 10 (4) 12 
 

108. fn, x, fp= esa oxksZa dh dqy la[;k crkvks & 

 

 
(1) 10 (2) 11 

(3) 8 (4) 16 
 

108. Calculate the number of squares in the 

following diagram - 

 

(1) 10 (2) 11 

(3) 8 (4) 16 
 

109. fp= esa dqy fdrus f=Hkqt gSa\ 

 

 
(1) 8 (2) 7 

(3) 5 (4) 9 
 

109. How many triangles are there in the given 

figure?  

 

(1) 8 (2) 7 

(3) 5 (4) 9 
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110. fn, x, fp= esa vk;rksa dh dqy la[;k                 

crkb, & 

 
(1) 8 (2) 12 

(3) 10 (4) 9 
 

110. Find out the total number of rectangles 

from the given figure - 
 

 

(1) 8 (2) 12 

(3) 10 (4) 9 
 

111. ;fn ?kM+h dk okLrfod le; 4:20 gks] rks niZ.k 

izfrfcEc dk le; gksxk & 

(1) 7:40 (2) 6:40 

(3) 8:40 (4) 11:40 
 

111. If actual time of the clock is 4:20, then the 

time in the mirror image will be - 

(1) 7:40 (2) 6:40 

(3) 8:40 (4) 11:40 
 

112. ;fn ?kM+h dk okLrfod le; 12:05 gks] rks niZ.k 

izfrfcEc dk le; gksxk & 

(1) 6:35 (2) 6:25 

(3) 11:55 (4) 12:05 
 

112. If the actual time of the clock is 12:05, then 

the time in the mirror image will be - 

(1) 6:35 (2) 6:25 

(3) 11:55 (4) 12:05 
 

113. ;fn fdlh ?kM+h ds niZ.k izfrfcEc esa 4:00 cts 
gaS] rks ?kM+h dk okLrfod le; gksxk & 
(1) 3:00 (2) 8:00 

(3) 2:00 (4) 4:00 
 

113. If the mirror image of a clock shows        

4:00 O’clock, then the actual time of the 

clock will be - 

(1) 3:00 (2) 8:00 

(3) 2:00 (4) 4:00 
 

114. fuEUk esa ls dkSu lk yhi o"kZ gS\ 

(1) 2000 (2) 2001 

(3) 2002 (4) 2003 
 

114. Which of the following is a Leap year? 

(1) 2000 (2) 2001 

(3) 2002 (4) 2003 
 

115. fdlh o"kZ **x.krU= fnol** jfookj dks Fkk] rks 

mlh o"kZ **’kghn fnol** fdl okj dks gksxk\ 

(1) cq/kokj (2) xq#okj  

(3) 'kqØokj  (4) 'kfuokj 
 

115. In a year “Republic Day” falls on Sunday, 

then what will be the day on “Shaheed 

Diwas” (Martyr’s Day)? 

(1) Wednesday (2) Thursday 

(3) Friday (4) Saturday 
 

 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    iz’u ¼iz’u ¼iz’u ¼iz’u ¼116-125½½½½    %%%% fn, x, fodYiksa esa ls 

yqIr in Kkr dhft,A  

 Direction : Question (116-125) :  Find out 

missing term from the given alternatives. 

116. 4, 9, 19, 24, 34, …………………, 49? 

(1) 37 (2) 38 

(3) 39 (4) 40 
 

116. 4, 9, 19, 24, 34, …………………, 49? 

(1) 37 (2) 38 

(3) 39 (4) 40 
 

117. KJIH, FED, …………………, Y? 

(1) AB (2) BC 

(3) BA (4) CD 
 

117. KJIH, FED, …………………, Y? 

(1) AB (2) BC 

(3) BA (4) CD 
 

118. 2, 5, 11, ………………., 23, 31? 

(1) 17 (2) 13 

(3) 15 (4) 14 
 

118. 2, 5, 11, ………………., 23, 31? 

(1) 17 (2) 13 

(3) 15 (4) 14 
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119. �

�
,

�

�
, . . . . . . . . . . . . . . , 2, 4, 8.  

(1) 0 (2) �

�
  

(3) �

�
  (4) 1 

 

119. �

�
,

�

�
, . . . . . . . . . . . . . . , 2, 4, 8.  

(1) 0 (2) �

�
  

(3) �

�
  (4) 1 

 

120. 2, 3, 4, 6, 6, ……………, 8, 12. 

(1) 7 (2) 8 

(3) 9 (4) 10 
 

120. 2, 3, 4, 6, 6, ……………, 8, 12. 

(1) 7 (2) 8 

(3) 9 (4) 10 
 

121. 13 ….. 11…… 2….. 13……. 11. 

(1) 1, 2, 3, 2 

(2) 2, 3, 1, 2 

(3) 2, 1, 3, 2 

(4) 1, 3, 1, 1 
 

121. 13 ….. 11…… 2….. 13……. 11. 

(1) 1, 2, 3, 2 

(2) 2, 3, 1, 2 

(3) 2, 1, 3, 2 

(4) 1, 3, 1, 1 
 

122. TS ……. RQPO …..… NM ….. , ..... KJ? 

(1) ROLL (2) SOOL 

(3) RPML (4) TOLK 
 

122. TS ……. RQPO ……… NM ….. , .... KJ? 

(1) ROLL (2) SOOL 

(3) RPML (4) TOLK 
 

123. EPTA, GRVC, ITXE, …………..? 

(1) KBZH (2) LWAI 

(3) KVZG (4) LAWI 
 

123. EPTA, GRVC, ITXE, …………..? 

(1) KBZH (2) LWAI 

(3) KVZG (4) LAWI 
 

124. cb ….. a ….. bd …... , …... bda …… , ……? 

(1) dccacb (2) dcaccb 

(3) dbcccd (4) bacccd 
 

124. cb ….. a ….. bd …... , ….. bda …... , …...? 

(1) dccacb (2) dcaccb 

(3) dbcccd (4) bacccd 
 

125. AZ, FU, KP, PK, …………….? 

(1) UF (2) SV 

(3) XT  (4) GL 
 

125. AZ, FU, KP, PK, …………….? 

(1) UF (2) SV 

(3) XT  (4) GL 
 

126. ,d ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSa] ftlesa 

uhps dh lrg ij 5 gS] rks Åij dh lrg ij 

dkSuls vad gksaxs\  

 

 

(1) 1, 2 (2) 2, 3 

(3) 3, 4 (4) 1, 1 
 

126. Two positions of a dice are shown, in which 

there is 5 on the bottom surface of dice, 

which numbers will be there on the top 

surface?  

 

(1) 1, 2 (2) 2, 3 

(3) 3, 4 (4) 1, 1 
 

6 3

? ?
4 2

6 3

? ?
4 2
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127. ,d ikls dh rhu fLFkfr;k¡ fn[kkbZ xbZ gSa] ftlesa  

Åij dh lrg ij 4 gS] rks uhps dh lrg ij 

dkSulk vad gksxk\  

 

(1) 6 (2) 5 

(3) 4 (4) 3 
 

127. Three position of dice are shown, in which 

there is 4 on the top. Which number will be 

there on the bottom surface? 

 

(1) 6 (2) 5 

(3) 4 (4) 3 
 

128. fuEukafdr ikls dh fLFkfr;ksa ds vk/kkj ij 2 ds 

foijhr dkSulk vad vk;sxk\ 

 

(1) 6 (2) 5 

(3) 1 (4) 3 
 

128. What number will be opposite of 2 based on 

the following positions of dice?  

 

(1) 6 (2) 5 

(3) 1 (4) 3 
 

129. fn, x, fp= esa] vad 1 dh lrg ds foijhr lrg 

ij dkSulk vad gksxk\ 

 

 

(1) 3 (2) 2 

(3) 5 (4) 6 
 

129. In the given pictures, what will be a number 

on the face opposite to the face with number 

1?  

 

(1) 3 (2) 2 

(3) 5 (4) 6 
 

130. fuEukafdr ikls dh fLFkfr;ksa ds vk/kkj ij 3 ds 

foijhr D;k vk;sxk\ 

 

(1) 4 (2) 6 

(3) 2 (4) 1 

 

130. What will be the opposite of 3 based on the 

following positions of a dice? 

 

(1) 4 (2) 6 

(3) 2 (4) 1 

 

 

53

4 26 3

53

4 26 3

41 5

6

3 6

5 1

141 5

6

3 6

5 1

1

5 3

4

2

2

65 3

4

2

2

6

4

1 2 2

4 4

3 35
4

1 2 2

4 4

3 35
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 funsZ’k funsZ’k funsZ’k funsZ’k %%%%    iz’u iz’u iz’u iz’u (131-135) ;fn f=Hkqt fØdsV [ksy 

dks] vk;r QqVckWy [ksy dks rFkk o`Ùk Vsful [ksy 

dks n’kkZrk gSA vkÑfr esa fn, x, vad f[kykfM+;ksa 

dh la[;k gS] rks fuEu iz’uksa ds mÙkj nhft, &  

 

 Direction : Question (131-135) If triangle 

represents Cricket, rectangle represents 

Football and circle represents Tennis and 

given numbers in figure show number of 

players, then answer the following questions-  

 

131. ,sls fdrus f[kykM+h gSa] tks Vsful [ksyrs gSa\ 

(1) 7 (2) 5 

(3) 4 (4) 10 
 

131. How many players are there who play 

Tennis? 

(1) 7 (2) 5 

(3) 4 (4) 10 
 

132. ,sls fdrus f[kykM+h gaS] tks lHkh [ksy [ksyrs gSa\ 
(1) 10 (2) 12 

(3) 8 (4) 4 
 

132. How many players play all games? 

(1) 10 (2) 12 

(3) 8 (4) 4 
 

133. ,sls fdrus f[kykM+h gSa] tks Vsful vkSj QqVckWy 
nksuksa [ksyrs gSa\ 
(1) 4 (2) 10 

(3) 8 (4) 12 
 

133. How many players play Tennis and Football 

both? 

(1) 4 (2) 10 

(3) 8 (4) 12 
 

134. ,sls fdrus f[kykM+h gSa] tks dsoy fØdsV [ksyrs 
gSa\ 
(1) 12 (2) 4 

(3) 7 (4) 8 
 

134. How many players play only Cricket? 
 

(1) 12 (2) 4 

(3) 7 (4) 8 
 

135. ,sls fdrus f[kykM+h gaS] tks fØdsV vkSj QqVckWy 
nksuksa [ksyrs gaS\  
(1) 5 (2) 4 

(3) 8 (4) 0 
 

135. How many players play Cricket and Football 

both? 

(1) 5 (2) 4 

(3) 8 (4) 0 
 

136. vkids pkpk ds ,dek= HkkbZ dk vkils D;k laca/k 
gS\ 
(1) nknk 
(2) firk 
(3) HkkbZ 
(4) iksrk  

 

136. How is your uncle’s only brother is related to 

you?  

(1) Grandfather 

(2) Father 

(3) Brother 

(4) Grandson 
 

137. ;fn A, B dk HkkbZ gSA B, C dh cgu gS] vkSj C, 

D dk firk gS] rks D dk A ds lkFk D;k fj’rk 
gS\ 
(1) HkkbZ (2) cgu 

(3) Hkrhtk (4) nknk 
 

137. If A is brother of B. B is the sister of C and 

C is the father of D, then how D is related to 

A? 

(1) Brother  (2) Sister 

(3) Nephew  (4) Grandfather  
 

7

4

128

10
5

7

4

128

10
5
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138. deys’k dh iq=h dh iq=h dk HkkbZ eukst gSA 
deys’k dk eukst ls D;k laca/k gS\ 
(1) nknk 
(2) ukuk 
(3) ekek  

(4) pkpk 
 

138. Kamlesh’s daughter’s, daughter’s brother is 

Manoj. How is Kamlesh related to Manoj?   

(1) Grandfather 

(2) Maternal grandfather 

(3) Maternal uncle 

(4) Uncle  
 

139. jes’k ds iq= ds iq= dk HkkbZ jksfgr gS] rks jksfgr 
dk jes’k ls D;k laca/k gS\ 
(1) HkkbZ  (2) Hkkatk 
(3) iksrk (4) pkpk 

 

139. Rohit is brother of Ramesh’s son’s son, then 

how is Rohit related to Ramesh?  

(1) Brother (2) Nephew 

(3) Grandson (4) Uncle  
 

140. uSuk ds ifr] vius ekrk&firk ds bdykSrs iq= 
gaSA uSuk dh lxh uun ds cPpksa ds fdrus ekek                    
gSa\ 
(1) 1 (2) 3 

(3) 2 (4) 4 
 

140. Naina’s husband is the only son of his 

parents. How many maternal uncles are there 

of the children of Naina’s real sister-in-law?  

(1) 1 (2) 3 

(3) 2 (4) 4 
 

 funsZ’kfunsZ’kfunsZ’kfunsZ’k    % iz’u % iz’u % iz’u % iz’u (141-150) % fp=ksa ds nks lewg fn, 

x, gSaA ,d lewg iz’u&fp= rFkk nwljk mÙkj fp= 

dk gSA iz’u fp= dks fdlh ,d Øe esa O;ofLFkr 

fd;k x;k gSA mÙkj fp=ksa eas ls ,d fp= dk p;u 

djuk gS] tks iz’u fp= ds Øekuqlkj vkxs tksM+k 

tk ldsA p;fur mÙkj fp= dk lgh Øekad Kkr 

dhft,A  

 Direction : Question (141-150) :  Two sets 

of the figures given. One set of question 

figure and another set is of answer figure. 

Question figures are arranged in a sequence 

one figure from the answer figures is to be 

selected such that it can be placed after the 

series of question figures. Find the correct 

serial number of the selected answer 

figures.  

141. iz’u vkÑfr;k¡ & 

 

 

mÙkj vkÑfr;k¡ & 

 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

141. Question figures -  

 

Answer figures - 

 

(1) 

 

(2) 

 

(3) 

 

(4) 
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142. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

142. Question figures -  

 

Answer figures -  

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

143. iz’u vkÑfr;k¡ & 

 
mÙkj vkÑfr;k¡ & 

(1) 

 

(2) 

 

(3) 

 
(4) 

 
 

143. Question figures -  

 
Answer figures -  

(1) 

 

(2) 

 

(3) 

 
(4) 

 
 

144. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

144. Question figures -  

 

Answer figures -  
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 
 

•
••

•
•

•

•
•

•

•

•
•

•
•

•

• •
•

• •

•

•

•
• •

•

•
•

•
••

•
•

•

•
•

•

•

•
•

•
•

•

• •
•

• •

•

•

•
• •

•

•
•
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145. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 

 

(1) 

 

(2) 

 

(3) 

 
(4) 

 

 

145. Question figures -  

 

Answer figures -  

 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

146. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

146. Question figures -  

 

Answer figures -  
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

147. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 
 

(1) 
 

(2) 
 

(3) 
 

(4) 

 
 

147. Question figures -  

 

Answer figures -  
 

(1) 
 

(2) 
 

(3) 
 

(4) 

 
 

••

••

•• • •

••

••

•• • •
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148. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 

 

(1) 
 

(2) 
 

(3) 
 

(4) 
 

 

148. Question figures -  

 

Answer figures -  

 

(1) 
 

(2) 
 

 

(3) 
 

(4) 
 

 

149. iz’u vkÑfr;k¡ & 

         

mÙkj vkÑfr;k¡ & 

 

(1)  

 

(2)  

 

(3) 
 

 

(4) 
 

 

149. Question figures -  

           

Answer figures -  

 

(1)  

 

(2)  

 

(3) 
 

 

(4) 
 

 

150. iz’u vkÑfr;k¡ & 

 

mÙkj vkÑfr;k¡ & 

 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

150. Question figures -  

 

Answer figures -  

 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

 

2

2

2

2
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 funsZ’kfunsZ’kfunsZ’kfunsZ’k    % iz’u % iz’u % iz’u % iz’u (151-155) % ,d ?ku dh izR;sd 
lrg dks fHkUu jax ls jaxk x;k gSA mls fp=kuqlkj 
?kukdkj [k.Mksa esa foHkkftr dj fn;k x;k gS] rks  
crkvks fdrus ?ku gksaxs] ftudh &  

 

 Direction : Question (151-155):  Each face 

of cube is coloured with different colours. 

It is divided into cubes as shown in figures, 

then tell how many cubes will be there, in 

which – 

 
151. dsoy ,d lrg gh jaxhu gks & 

(1) 6 (2) 4 

(3) 1 (4) 9 
 

151. Only one face is coloured -  

(1) 6 (2) 4 

(3) 1 (4) 9 
 

152. nks lrg gh jaxhu gksa &  
(1) 12 (2) 16 

(3) 10 (4) 18 
 

152. Only two surfaces are coloured - 
(1) 12 (2) 16 

(3) 10 (4) 18 
 

153. rhu lrg gh jaxhu gksa &  

(1) 12 (2) 8 

(3) 6 (4) 10 
 

153. Only three surfaces are coloured -  
(1) 12 (2) 8 

(3) 6 (4) 10 
 

154. N% lrg jaxhu gksa &  

(1) 0 (2) 1 

(3) 3 (4) 2 
 

154. Six surfaces are coloured -  
(1) 0 (2) 1 

(3) 3 (4) 2 
 

155. ,d Hkh lrg jaxhu ugha gks &  

(1) 4 (2) 0 

(3) 1 (4) 2 
 

155. None of the surfaces are coloured -  

(1) 4 (2) 0 

(3) 1 (4) 2 
 

156. ,d O;fDr mÙkj&if’pe fn’kk dh vksj eq¡g dj 

ds [kM+k gSA og ?kM+h dh fn’kk esa 180° ?kwerk gSA 

mldk eq¡g fdl fn’kk esa gS\  

(1) if’pe  (2) nf{k.k&iwoZ  

(3) nf{k.k  (4) mÙkj&if’pe  
 

156. A man is facing North-West. He turns 180° 

in the clockwise direction. In which 

direction he is facing now?  

(1) West  (2) South-East  

(3) South  (4) North-West  
 

157. lw;ksZn; ds le;] lqjs’k ,d [kEHks dh rjQ eq¡g 
djds [kM+k FkkA [kEHks dh Nk;k lqjs’k ds nk;ha 
rjQ fxj jgh Fkh] rks lqjs’k dk eq¡g fdl fn’kk esa 
Fkk\  
(1) iwoZ  (2) if’pe  

(3) mÙkj  (4) nf{k.k  
 

157. At the time of sunrise, Suresh was standing 

facing a pole. The shadow of the pole fell 

exactly to his right. To which direction was 

he facing?  
(1) East (2) West 

(3) North (4) South 
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158. eksgu vius ?kj ls mÙkj dh vksj 20 fd-eh- pykA 

fQj if’pe dh vksj eqM+dj 10 fd-eh- x;k] fQj 

nf{k.k dh vksj eqM+dj 5 fd-eh- pyk] rks crkb, 

eksgu us dqy fdruh nwjh r; dh\  

(1) 25 fd-eh- (2) 30 fd-eh- 

(3) 15 fd-eh- (4) 35 fd-eh- 
 

158. Mohan walked 20 km towards North from 

his house. Then turning towards West he 

walked 10 km, then turning towards South 

he walked 5 km, then tell how much total 

distance Mohan covered?    
(1) 25 km (2) 30 km 

(3) 15 km (4) 35 km 
 

159. ,d O;fDr if’pe dh vksj pyk] og nk,¡ eqM+k] 

fQj nk,¡ eqM+k vkSj vUr esa ck;ha vksj eqM+k] rks og 

O;fDr fdl fn’kk dh vksj py jgk gS\  

(1) nf{k.k  (2) mÙkj  

(3) iwoZ  (4) if’pe  
 

159. A person walks towards West, he turns 

right, then he turns right and finally he turns 

left, then in which direction is the person 

walking now?  

(1) South  (2) North  

(3) East  (4) West  
 

160. ,d O;fDr LdwVj ij lokj gksdj nf{k.k dh vksj 
4 fd-eh- lokjh djrk gSA fQj og ck;ha vksj 
eqM+dj 2 fd-eh- lokjh djrk gS] fQj nk;ha vksj 
eqM+dj 4 fd-eh- pyrk gS] rks og vc fdl fn’kk 
esa tk jgk gS\   
(1) nf{k.k  (2) iwoZ  

(3) if’pe  (4) mÙkj  
 

160. A person rides on his scooter 4 km towards 

South. Then he turns to his left and rides 2 

km, then turns right and walks 4 km, then 

in which direction he is going now?  
 

(1) South  (2) East  

(3) West  (4) North  
 

 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    iz’u ¼iz’u ¼iz’u ¼iz’u ¼161-165½½½½    %%%% izR;sd iz’u esa vkÑfr;k¡ 

nh xbZ gSa] mlds vUnj@ckgj fo’ks"k fu;e }kjk 

dqN la[;k,¡ nh xbZ gaSA izR;sd iz’u esa ,d vkÑfr 

ds vUnj ¼\½ fpUg fn;k x;k gSA mDr fjDr LFkku 

¼\½ dks Hkjus ds fy, lgh fodYi pqfu,A 

 Direction : Question (161-165) : In each 

question there are figures, certain numbers 

are given inside/outside the figure 

according to a particular rule. In each 

question one figure has (?) mark inside. 

Choose the correct answer to fill in the 

space marked (?) from given alternative.   

161. 

 

(1) 10 (2) 9 

(3) 30 (4) 20 
 

161. 

 

(1) 10 (2) 9 

(3) 30 (4) 20 
 

162. 

 

(1) 18 (2) 11 

(3) 22 (4) 17 
 

162. 

 

(1) 18 (2) 11   

(3) 22 (4) 17 
 

3
11

1

7

0

3
?

5 2
17

7

6 3

1

13
11

1

7

0

3
?

5 2
17

7

6 3

1

1

17

16

4

36

25
13

16

1

25

9
?

16

4

9

1
17

16

4

36

25
13

16

1

25

9
?

16

4

9

1
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163. 

 

(1) 39 (2) 49 

(3) 46 (4) 36 
 

163. 

 
(1) 39 (2) 49 

(3) 46 (4) 36 
 

164. 

 

(1) 70 (2) 65 

(3) 94 (4) 60 
 

164. 

 

(1) 70 (2) 65 

(3) 94 (4) 60 
 

165. 

 

(1) 23 (2) 24 

(3) 30 (4) 26 
 

165. 

 

(1) 23 (2) 24 

(3) 30 (4) 26 
 

 funsZ’kfunsZ’kfunsZ’kfunsZ’k    % iz’u ¼% iz’u ¼% iz’u ¼% iz’u ¼166-170½½½½    %%%%    fn;s x, oxZ ds ukS 
[k.Mksa esa ls ,d [k.M [kkyh NksM+k x;k gS rFkk 
’ks"k [k.Mksa esa la[;k,a fy[kh xbZ gSa] tks fdlh 
fof’k"V fu;e dk ikyu djrh gaSA ml fu;e dks 
Kkr dj ¼\½ [k.M ds fy, mfpr fodYi pfqu,A  

 Direction : Question (166-170) : Out of 

the nine cells of the square given, one cell 

is left blank and the rest of the cells have 

numbers written which follow some rule. 

Find the rule and the proper option for 

blank cell. 

166. 17 7 19 

7 ? 3 

3 5 13 

(1) 1 (2) 2 

(3) 4 (4) 3 
 

166. 17 7 19 

7 ? 3 

3 5 13 

(1) 1 (2) 2 

(3) 4 (4) 3 
 

167. 3 2 5 

33 0 ? 

11 0 7 

(1) 0 (2) 25 

(3) 35 (4) 45 
 

167. 3 2 5 

33 0 ? 

11 0 7 

(1) 0 (2) 25 

(3) 35 (4) 45 
 

168. 8 19 11 

20 27 7 

? 18 10 

(1) 28 (2) 8 

(3) 18 (4) 10 
 

168. 8 19 11 

20 27 7 

? 18 10 

(1) 28 (2) 8 

(3) 18 (4) 10 
 

28

16 14

1115
?

8 12

1016
25

21 14

69
28

16 14

1115
?

8 12

1016
25

21 14

69

62
3 0

72
78

1 4

56
?

2 9

03
62

3 0

72
78

1 4

56
?

2 9

03

36

3

1

2
9

2

1

0
?

2

4

1

36

3

1

2
9

2

1

0
?

2

4

1
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169. 9 ? 4 

10 25 5 

11 33 6 

(1) 16 (2) 17 

(3) 18 (4) 19 
 

169. 9 ? 4 

10 25 5 

11 33 6 

(1) 16 (2) 17 

(3) 18 (4) 19 
 

170. 2 3 5 

7 11 ? 

17 19 23 

(1) 13 (2) 15 

(3) 18 (4) 21 
 

170. 2 3 5 

7 11 ? 

17 19 23 

(1) 13 (2) 15  

(3) 18 (4) 21 
 

 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    iz’u ¼iz’u ¼iz’u ¼iz’u ¼171-172½½½½    %%%% fuEufyf[kr izR;sd 

iz’u ds pkj fodYiksa esa ls rhu ,d fuf’pr rjhds 

ls leku gaS] ,d fodYi ¼la[;k@fpUg@fp=½ 

vU; rhu ls fHkUu gSA vr% vki ml vkÑfr dks 

pqfu, tks vU; ls fHkUu gSA  

 Direction : Question (171-172) : Each of 

the following questions have four options, 

three are alike in a certain way, one option 

is different from the other three 

(number/symbol/picture). So select the 

figure which is different from the others.  

171. 
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

171. 
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

172. 
 

(1) 

 

(2) 

 

(3) 

 

(4) 

 

 

172. 
 

(1) 

 

(2) 

 

(3) 

 

(4) 
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 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    iz’u ¼iz’u ¼iz’u ¼iz’u ¼173-175½½½½    %%%%    uhps nh xbZ lkj.kh esa 

LrEHk I vkSj LrEHk II fn, x, gSaA LrEHk I esa fy[ks 

x, vaxzsth ds cM+s v{kjksa dks LrEHk II esa ladsr 

djds fy[kk x;k gS] ijUrq ;g mlh Øe esa ugha 

gS] ftl Øe esa LrEHk I esa fy[ks gSaA LrEHk I vkSj 

II ds lkFk xgurk ls v/;;u djds iwNs x, iz’uksa 

ds mÙkj nsa & 

LrEHkLrEHkLrEHkLrEHk I   LrEHk LrEHk LrEHk LrEHk II 

CLOUD  durxs 

MOON  wxxv 

SKY   tbh 

STAR   pcba 

SUN    bwd 

 Direction : Question (173-175) : In the 

below table Column I and Column II are 

given. The English capital letters written in 

Column I are written as their codes in 

Column II but are not arranged in the same 

order in which they are in Column I. Study 

the letters in both Columns and answer the 

following questions - 

Column I  Column II 

CLOUD  durxs 

MOON  wxxv 

SKY   tbh 

STAR   pcba 

SUN    bwd  

173. ‘N’ dk ladsrk{kj gS &  

(1) b (2) w 

(3) h (4) t 
 

173. Code letter of ‘N’ is -    

(1) b (2) w 

(3) h (4) t 
 

174. ‘O’ dk ladsrk{kj gS &  

(1) u (2) v 

(3) x (4) r  
 

174. Code letter of ‘O’ is -  

(1) u (2) v 

(3) x (4) r  
 

175. ‘S’ dk ladsrk{kj gS &  

(1) b (2) c 

(3) w (4) s 
 

175. Code letter of ‘S’ is -  

(1) b (2) c 

(3) w (4) s 
 

 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    iz’uiz’uiz’uiz’u (176-178) : fuEufyf[kr iz’uksa esa 

v{kj@’kCn@fp= ds izfrfcEc niZ.k esa n`"Vkadu 

djuk gSA niZ.k dh fLFkfr nh xbZ gSA fn, x, 

fodYiksa esa lgh izfrfcEc pqfu,A 

 Direction : Question (176-178) : In the 

following questions visualize the image of 

letters/word/picture in the mirror. The 

position of mirror is given. Choose the 

correct image from the given options.   

176. 

 

(1) 
 

(2) 
 

(3) 
 

(4) 
 

 

176. 

 

(1) 
 

(2) 
 

(3) 
 

(4) 
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177. 

 

(1)  (2)  

(3)  (4)  
 

177. 

 

(1)  (2)  

(3)  (4)  
 

178. 
 

(1) 
 

(2)  

(3)  (4)  
 

178. 
 

(1) 
 

(2)  

(3)  (4)  
 

179. ;fn ,d lkadsfrd Hkk"kk esa SLATE = 59436, 

MOUSE = 27156  fy[kk tkrk gS] rks LOTUS 

dks ml lkadsfrd Hkk"kk esa fdl izdkj fy[kk 

tk,xk\  

(1) 97531 (2) 97513 

(3) 97351 (4) 97315 

 

179. In a coding language SLATE = 59436, 

MOUSE = 27156 is written. Then how will 

LOTUS be written in that coding                 

language?   

(1) 97531 (2) 97513 

(3) 97351 (4) 97315 

 

180. ;fn MOBILE dks LNAHKD fy[kk tk,] rks 

PHONE dks fy[kk tk,xk &  

(1) ENOHP (2) DMNGO 

(3) OGNMD (4) GOMND 

 

180. If MOBILE is written as LNAHKD, then 

PHONE will be written as –  

(1) ENOHP (2) DMNGO 

(3) OGNMD (4) GOMND 

 

 

----------------------------------------------- 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg /Space for Rough Work 
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